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1. Find all numbers that must be axcludzd from the domain of the rational expression, X ‘{_ I: o :) X: - ,
x-1 ) -
P +8x+7 L f)('f'? = CX‘H) (X tF )H“F—U:) X==f&

Type the values for which the rational expression is undefined. Select the correct choice below and fill in any answer boxes
within your choice.

QA =) ™ + (Use a comma to separate answers as needed.)

O B. The rational expression is defined for all real numbers.

Simplify the rational expression. Find alt numbers that must be excluded from the domain of the simplified rational
expression in order for it to be equivalent to the original expression.

x-12 3M - 3

—

x% - 8x+ 16 (_W Cx__ l‘f) T(:L/

Simplify the rational expression.

-1
—35—L = —--3-"‘ (Simplify your answer. Use positive exponents ohly.)
x> - 8x+16 '—x‘—q—_

Find the numbers that must be excluded from the domain of the simplified rational expression in order for it to be equivalent
to the original expression. Select the correct choice below and, if necessary, fill in the answer box to complete your choice,

QA x# é& {Use a comma to separate answers as needed.)
(0 B. There are no numbers excluded from the domain.

Simplify the rational expression. Find all numbers that must be excluded from the domain of the simplified rational
expression in order for it to be equivalent to the original expression.

fomea o (X=2)( <L)
4x-8 I’fﬁ

Simplify the rational expression. Select the correct choice below and fill in any answer boxes in your choice.

X’ -4x+4 __X;L

4x-8 ——I_-‘,é-_
(Simplify your answer. Use positive expunents only. Use integers or fractions for any numbers in the expression.)

Find the numbers that must be excluded from the domain of the simplified rational expression in order for it to be equivalent
to the original expression. Select the correct choice below and, if nacessary, fill in the answer box to complete your choice,

O A x# 2 (Use a comma to separate answers as needed.)

O B. There are no numbers excluded from the domain,




4. Simplify the rational expression. Find all numbers that must be excluded from the domain of the simplified raticnal
expression in order for it to be equivalent to the criginal expression.

x2 +6x+9 - CMX‘{'}_)

xz-g "—MCX__Z)

Select the correct choice below and fill in any answer boxes within your choice.

rones lﬂ w33

(Use a oomma to separate answers as needed.)
(O B. No numbers must be excluded.

O A. 2

5. Multiply the exprassions.

X -11x+30 -16 _ N
x2-2x-24 x2-25 % E;;%;fo;)

Select the correct choice below and fill in the answer box{es) within your choice.

O A Z-11x+30 x2-18 _&:é{ .
2 ox-2a 225 —XAS ** %6[ 515

(Simplify your answer. Use a comma to separate answers as needed.)
OB 2115430 2 -16 _
C-2%-24 x2-25

and no numbers must be excluded.

6. Divide as indicated.

s o 29 clon xt3)
10:-325+6:2_;5:()(;(i(;vlzf) éi)(?qs M ;24/5)

Select the correct choice bel fill in the answer box(es) to complete your choice.
{Simplify your answer. Use integers of
needed.)

2+ 2+
L 25+6x2 15=_S(x+5 32

x-3 x" -9 “""? T

102 +25 6x2+15,
+— = » N0 numbers must be excluded.
x-3 xX-9 —

O B.




7. Divide as indicated, _g ‘ M .
PR L S ) %&%’rﬁf (xA5)(49)
X

*
4x-4
s b0t 3).
Select the cdrrect oice below and fill in the answer box(es) to complete your choica.
F - (Simplify your answer. Use integers or fractions for any numbers in the expression, Use g Ccomma to separatg answers as

I 2 _ 2 —
OA X 64+x +16x+64= Xﬁz ,xﬁ_'l,“g
ax-4  x2474-g ’

- 684 2+ 16x + 64
OB. + = + N0 numbers must be excluded.

4x-4  xPi7¢-3
g Add.

o = MR G 20) _ pxyg4g g
QGG E) o CX-L) 04D~ [xg)ez)

Select the comect choice below and fill in any answer boxes within your choice

Add as indicated.
h 2 x+9 225( x_ef)-}@(-f?)()(t?): ZXP:-M'f'XaY"M‘f&/:}xl'}Q[
Oefs)xs)

X+9 x-9 —

QOA. x—3-x3+£r_:);'= 3X2‘}g/ JX# ....gl f
2 xes (XFY0Y)

OaB. x+9 ' 579 » N0 numbers must be excluded.
-9 —
{

18, Add as indicateq,

OA 2 5

3x+6+4x+8= 5 ’X#-—‘:_z._____
OB 2 5 Xte)

———

g " yrrr » N0 numbers must be excluded,
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1. A -1,-7 (Use a comma to separate answers as naeded.)

2 S
‘x-4
A x# 4 (Use a comma to separate answers as needed.)
xX—~2
373
A x# 2 (Use a comma to separate answers as needed.)
2 +8x+9 x+3
4. A, ——2-9— = x-3 X # -33 (Use a comma to separate answers as needed.)
X2~ E—
s A X o1x230 P18 x-4 E A
o x2-2x-24 x%-25 x+5 ——

(Simplify your answer. Use a comma to separate answers as needed.)

1082425 6F+15_ §(x+3)

6. A + = X 3,-3
x-3  x-9 ) —_—

x>-84 x2+16x+64 x-8
. +— N 2 VX#E 1,~8
4x -4 X" +7x-8

7.A

AT, 2 _ _sx+37
AT (x=6)x+7) 'XF__-78
e

2x  x+9 ax? + 81
4.4 .

x+97%"9" rgym-9) 'X*___ 9-9
2 5 23
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